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General Instructions to the Candidate :

1. This Question Paper consists of 47 objective and subjective types of

questions.

2. This question paper has been sealed by reverse jacket. You have to cut
on the right side to open the paper at the time of commencement of the
examination. Check whether all the pages of the question paper are
intact.

3. Follow the instructions given against both the objective and subjective

types of questions.
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4. Figures in the right hand margin indicate maximum marks for the
questions.

S. The maximum time to answer the paper is given at the top of the

question paper. It includes 15 minutes for reading the question paper.
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Four alternatives are given for each of the following questions /
incomplete statements. Only one of them is correct or most
appropriate. Choose the correct alternative and write the complete

answer along with its letter of alphabet : 6x1=6

1. No one kneels to another, Nor to his kind.

The figure of speech used here is

(A) Synecdoche (B) Alliteration

(C) Simile (D) Metaphor

2. The boy was playing in the mud, ......

The appropriate question tag to be added is

(A) doesn't he ? (B) hasn't he?
(C) was he ? (D) wasn't he ?
3. The princess was declared as .......... heiress of ........... greatest

empire.

The appropriate articles to be filled in the blanks are

(A) the, a B) aa

(C) an, the (D) a, an
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II.

4. Yesterday, I saw a boy. He ............ , sitting under the tree.

The correct form of the verb to be filled in the blank is

(A) is crying (B) was crying

(C) were crying (D) will be crying.

5. I can feel the fragrance of those beautiful roses.

The meaning of the underlined word is

(A) taste (B) scent

(C) appearance (D) shape

6. She can achieve more and she can succeed in that field.

The language function of the underlined word is

(A) request (B) permission

(C) ability (D) suggestion

Observe the relationship in the first pair of words and complete the

second pair accordingly in the following : 4x1=4

7. Possible : Impossible :: Honour : .............
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8. Direct : Direction :: Admire : ............

9. Do : Done: Awake : ............

10. Road : Rode :: Scene : ............

| ]

II. Rewrite as directed : 3x1=3

11. Change the voice of the sentence :

Let me do this work.

12. Frame a question to get the underlined words as answer :

Swami Vivekananda went to Chicago to fulfil the wish of his master.

13. Change the given sentence into a negative sentence :

He will fulfil the expectations of his parents.

L |

V. Answer the following questions in a sentence each : T7Tx1=17

14. What does Chubukov at first suspect that Lomov has come for ?

15. What is a dust of snow according to the poet ?

16. Name any two characters in the poem 'The tale of Custard the Dragon'.

17. Where does the stranger go with the desire for solitude ?
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18. What are the things which angered Matilda ?

19.

20.

21.

TR

22.

23.

24.

25.

26.

Where does Matilda's husband work ?

Where did Richard raise the flock of butterflies ?

Answer the following questions in two to three sentences each :

7x2=14

What was the unusual reason behind sending Bholi to school ?

Describe the appearance and condition of Tricki before it was admitted

to the hospital.

What is the underlying message of the poem "Dust of Snow" ?

How did the young seagull's mother try to motivate him to fly ?

How does Rajvir explain about drinking of tea ?
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27. Who took the lawyer to Lutkin's mother ? What did he tell about the
VI. Rewrite as directed : 3x2=6

28. Change the following sentence to the other two degrees of comparison :

Corona is more dangerous than any other virus.

29. Change the following sentence to reported speech :

Rajat said to Sharan "Have you seen anyone roaming around your

house yesterday ?"

30. Combine the sentences using

A |RF (A)-(200)-9008| A




CCE RF

7 15-E

VII. Answer the following questions in five-six sentences each: 6 x3 =18

31.

32.

33.

34.

35.

36.

What are the elders in Goa nostalgic about ?

How did Buddha explain the mortal life in the world with examples ?

Narrate the incident of the boy robbing money in Anil's house.

Write a brief note on the contrast between the life of the tiger in the

zoo and in the forest and variations in his mood.

Explain about the girl Amanda, her condition and her feeling.

How does Anne Frank give a brief sketch of her family ?

=
gt

OR

How did the young seagull react when it reached the green sea ?

VIII. Explain with reference to the context : 4x3=12

37.

38.

39.

40.

“There's no one who can help us. We'll all go hungry this year.”

“Sixty pairs all lined up in my closet.”

He senses his first responsibility in a world of possessions.

But Custard cried for a nice safe cage.
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1x4=4

........................................................................ street.

X. Answer the following questions in seven-eight sentences each :

3x4=12

42. How does the poet compare and contrast the qualities of animals with

that of human beings ?

OR

Write the summary of the poem "The Ball Poem".
43. Narrate the incident of the pilot when he was stuck in the storm.

OR

e
v

'
[=
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44. How did the girls know that Wanda liked them even though they had

teased her ?

OR

al

below :

Write a brief note on the origin of the Coorg people.

I. Read the following passage carefully and answer the questions given

1x4=4(2+2)

Samskrit, however, proved a harder task. In Samskrit, I thought, everything

had to be learnt by heart. The teacher was a hard task master. There was a

sort of rivalry going on between the Samskrit and the Persian teachers. The

Persian teacher was lenient. The students used to talk among themselves

that Persian was very easy and the Persian teacher was good and

considerate to the students. The easiness tempted me and one day I sat in
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the Persian class. The Samskrit teacher was grieved. He called me to his

side and said "If you have any difficulty, why not come to me ? I want to

teach students interestingly, and to the best of my ability. You should not

lose heart. Come and sit in my class".

Gandhiji writes "Today I cannot but think with gratitude of Krishnashankar

Pandya. For, if I had not acquired the little Samskrit that I learnt then, I

should have found it difficult to take any interest in our sacred books".

Questions :

45. a) Why did Gandhiji sit one day in Persian class ?

b) How did Gandhiji pay gratitude to Krishnashankar Pandya ?

ol

II. Write an essay of about 18-20 sentences on any one of the following

topics : 1x5=5

46. a) Internet - Its advantages and disadvantages.

b) Save forests save earth.
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XIII.Imagine you are Shravan / Sharadhi, of Government High School,

Bidar.

47. Write a letter to your mother explaining to her, why it's necessary to

take vaccine to fight against the pandemic. 1x5=5

OR

Imagine you are Karan / Kriti of Government High School,

Bagalakot. Write a letter to the Manager of Bagalakot Sugar Factory,

seeking permission to visit the factory for educational purpose.
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